
OP_contextswitch

PushCStack

fxnum
 ==FAULTFIXP

CurrentFX->incall=T

CurrentFX->nopush=T

CurrentFX->pc =PC-FuncObj + 1

CurrentFX->nextblock = ++CurrentStackPTR

*CurrentStackPTR = FSB_MARK

*(CurrentStackPTR+1) = StkLim0-CurrentStackPTR+STKLIMOFFSET

CurrentStackPTR++

contextswitch(TopOfStack &0xffff)

contextswitch(fxnum)

CurrentFX =STK_OFFSET |  Addr68k_from_LADDR(*(InterfacePage + fxnum))

*(InterfacePage + fxnum) = LOLOC(LADDR_from_68k(CurrentFX))
Midpunt

Midpunt

returnFX
 ->incall

returnFX
 ->nopush

 FastRetCALL

CurrentStackPTR = next68k-1

CurrentStackPTR--

TopOfStack = *((LispPTR *)CurrentStackPTR)

CurrentStackPTR = next68k-2

returnFX->nopush=0

OP_apply()

PC = returnFX->pc

CurrentStackPTR--

TopOfStack = *((LispPTR *)CurrentStackPTR)

CurrentStackPTR = next68k-2

returnFX->incall=0

PVar =returnFX+FRAMESIZE

next68k 
 >=StkLim0 goto RTN2

Midpunt

StkLim0=EndSTKP-7

*freeptr==FSB_MARK 

freeptr= next68k 

EndSTKP = freeptr=freeptr +*(freeptr+1)

RTN2  (*next68k !=FSB_MARK) 
error("OP_return : MP9316")


